A
BE)

M7EEERTETE (X EERIEERSEER
IF 3z
T K|BES=HER (~4/4) &S
2|7k 2| &
3| K2, 380 5 256%9:00 3| |Er=E
4l & Ak s 5 2559:00 4 Blpvns
5| h|BlcesmA
I=! 6| X |iREAE
7| B gk, 7|7k
NP == 8| A |iEan£18:30 (ZEMH=)
9K [Az=t. [2,3FIEEEEEE 9|&
10| K|St a/1e) - ainied Do as Copin e [10]E
N|E|NFIFBAP CRE. EHEBBN. EHBRAZ (~4/15) =
12| | B3ELEmds 12| B2 3 1hmEs. NE]3REE
13| B |[3EIe s 13| k|2 3 1pmEs. 1E]3mEE
14| B(n=E1EA SR 14|5K |2 3 1prgEE. E]3REE
15[ K| IADER S 15[
16K ElER (MREIGERRY) . EHER 16| & [1&R 1%
17| R|DEFEIERES VitanEg 17 x
18|& 18182
19 19| B [taiEmigge (~5/28)
20| H 20| k|04, 2, 3ERtRH I EERES
211R 217K |[101~1031RHE2
22| K|DElEREES. FEIWEHL Y R (R) 22| KR|ERFHE
23| K| D1 ImmERL > 29100 (1R) 23| & |mmenlmRgE
24| A g%;ﬁi]ét)\nwa@\ HEREERRARMIBEAR18:30 (38 |5yl 4
25| & 25|H
26|+ 26| B [[104~1061RH%3
27 H 27| K
28| B 287K
29[ K 29| K |@mrsmtiTR
30{ 7k 30| & | mEmmmiE (~6/5)
3| k| Emmsk




